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In-order(v)

If (v==null) return

Else
In-order(v.left) ? *“7xnwyy nn 7
Print v.key ? (1) vy nrt
In-order(v.right) 2 an'yy nn 72
Return

End if
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In-order(v.left) ? *“7xnwyy nn 7
Print v.key ? (1) vapnt
In-order(v.right) 2 an'yy nn 72 a a @

Return

End if °
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Initialization _
Size € 0 Twnn 7712 — Max-size O

Max-size < 2 e _
A € array of size 2 Max-size 7Taawn - A O

Push(S,x) Pop(S)

If (size<max-size)
Al[size+1] € x
Size ¢ size + 1
Else
A’ &€ new array of size 2*max-size
A < A’ (+copy)
max-size € max-size*2
Al[size+1] € x
Size < size +1
End if

Return-value = A[size]

Size < size-1

If (size < max-size/4)
A’ & array of size max-size/2
A & A’ (+copy)
Max-size € max-size/2

End if
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